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Instructions: 1. Be precise to your answer.
2. Assume missing data suitably, if any

Note: All questions are compulsory T e IfAaT §l

QUESTION NO.-1

Answer any Two questions. fohoal &I &A1 o 30X SIToIT | [ 5x2=10]
A. How does parity bit help in error detection? Discuss. Give an example. 5

ARE 9 (parity bit) $& J& T IAT 9T H Hee el & ? fada=r HITS| Teh 3¢ T |

B. Draw the logic diagram of AND, OR and NOT gate by using Universal gates. 5
Universal 3¢ & EIIAT & AND, OR GUT NOT 31C & liToleh HRNE TATST|

C. Convert the following numbers from one number system to another. 5
vt AEa3it &l Ueh A FTed @ g@ & Fhefac dIfor|
(ABC)46 = (?777),
(2B.C4)16= (777710
(1431)s= (777710
(34)16 - (1C)16=7?
(42)49 = (7777),

QUESTION NO.-2

Answer any Two questions. fohegl &I 92T & 3T EIfaT| [5x2=10]

A. Describe the construction and working of LED. 5
AT vd SR @ gufd S|

B. Give the structure of a 4-variable K-Map and explain. 5

4-TX dTel K-HY &1 3T ST 3R gHs18T|

C. What is an encoder? Draw block diagram and two tables of priority encoder. 5

TUeehI2{ T &2 sclich 3T 31 I ASar taAensY T & arfaienU §+14 |



QUESTION NO.-3

Answer any Two questions. fohegl &I 92311 & 3R GIfSTT| [5x2=10]
A. Discuss binary weighted, R-2R D/A converter.
TSR 3¢S, R-2R D/A Felde O I HY |
B. Simplify the following function using K-map and implement the minimized function using a

minimum number of gates.

- T 3TN Feh (A= Tol T BRIl &l ALl TATU 3T ICH ol wgeTclH TET &l ITANT Fleh

A TH HerleT &l ol Y |
f(A,B,C,D) = Ym(2,3,4,5,6,7,8) + d(0,10,11,12,14)

C. What are the differences between combination and sequential circuits?

HATSToT AR 37Tshideh Hiche o srer 7 3R &2

QUESTION NO.-4

Answer any Two questions. fohoal &I &A1 o 30X SIToTT | [ 5x2=10]

A. Simplify following boolean expression using K-Map.

fﬁmﬁ@aaﬁaﬂmﬁ$-ﬁqaﬁrmmmﬁﬁcl
=ABCD + ABCD + ABCD + ABCD

B. What are the differences between the latch and flip flop?
of 3R [T wrellq & ot T X 82
C. Draw the circuit diagram of the master-slave JK flip flop and explain the working operation.

ATECT-TT Soh [FolT Fellq T Gfehe 3TRW TATY 3R T TTele hl GHST|

QUESTION NO.-5

Answer any Two questions. [hegl &I 2= & 3R IfSIT| [5x2=10]
A. Give the operation of a static RAM cell.
Teh &2 RAM el &1 HelTolel I |
B. In short, discuss UV EPROM.
&9 H, UV EPROM W 9T &< |
C. Sketch two-bit synchronous counter and its timing diagram and give its operation.

aI-foe AP F13eX 31X 39 s AT 3@ I Tha Y 31T 3T AT 5d1 |



